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#include <iostream>
Int main()
{
cout << "Hello, world!’<<endl ;
return O;

}
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\n Newline

\t Tab

\b Backspace

\a Beep sound

\”’ Double quote
\ Single quote
\O Null character
\? Question mark
\\ Back slash
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char x ="\a’';
cout << Xx;
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Int main()
{ /I defines constants; has no output:
const char BEEP ='\a’;
const int MAXINT=2147483647;
const float DEGREE=23.53;
const double P1=3.14159265358979323846;
return O;
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#include<iostram>
Int main()
{ // reads an integer from input:
Int m;
cout << "Enter a number: ",
cin >>m;
cout << "your number is: " << m << endl;
return O;
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#include <iostream>
int main()
{
float x,y,s,p ;
cin>>x>>y;

= X+y ,
P=X*y;
cout << s <<endl << p;
return O ;

}
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